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QUESTION 1

Which sbspaces statement is FALSE? 

A. Sbspaces may be recoverable. 

B. Sbspaces can be of varying page size. 

C. Sbspaces may be part of round robin fragmentation. 

D. Sbspaces have read, write and seek properties similar to UNIX functions. 

Correct Answer: B 

 

QUESTION 2

Which storage space should be used to store columns defined as a BLOB or a CLOB? 

A. sbspace 

B. dbspace 

C. extspace 

D. blobspace 

Correct Answer: A 

 

QUESTION 3

Which statement about Informix data compression is true? 

A. Compressing data on one Enterprise Replication (ER) node affects the data on the other ER nodes. 

B. I/O-bound tables, for example, those with bad cache hit ratios, are good candidates for compression. 

C. Compression operations can be executed on a HDR secondary, RS secondary, or SD secondary server. 

D. Compressing data on a primary instance will not compress data on the High-Availability Data Replication (HDR)
secondary instance. 

Correct Answer: B 

 

QUESTION 4

Given the following: 
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A. Update three rows. 

B. Update one row and insert two rows. 

C. Update two rows and insert one row. 

D. Return a 26095 error - Cannot update or delete a row twice in a MERGE statement. 

Correct Answer: C 

 

QUESTION 5

Which two corrective actions may be taken if following message is logged in the online message log during a failed
attempt to bring an instance online? (Choose two) 

18:15:44

 Size of resident + virtual segments 100000KB + 60000KB > 150000KB 

18:15:44

 total allowed by configuration parameter SHMTOTAL 

A. 

Decrease SHMADD 

B. 

Increase SHMTOTAL 

C. 

Decrease SHMBASE 

D. 

Increase SHMVIRTSIZE 
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E. 

Decrease buffer pool size 

Correct Answer: BE 

 

QUESTION 6

Which role can create, alter, or delete trusted context objects? 

A.DBA 

B. DBSA 

C. DBSSO 

D. DBSECADM 

Correct Answer: D 

 

QUESTION 7

How many paging files are required for SD secondary instances? 

A. There should always be two. 

B. It depends on how many CPU VPs you have. 

C. It depends on how many datadbspaces you have. 

D. It depends on how many temporarydbspaces you have. 

Correct Answer: A 

 

QUESTION 8

Which $ONCONFIG parameter triggers an automatic increase to a chunk or space based on remaining free space? 

A. SP_AUTOGROW 

B. SP_THRESHOLD 

C. SP_AUTOEXPAND 

D. SP_CHUNKEXTEND 

Correct Answer: B 

 

QUESTION 9
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By default, the alarm program gets executed for which event(s)? 

A. All events. 

B. Only for events with Severity code 1. 

C. Only for events with Severity code 5. 

D. Only for events with Severity code greater than 1. 

Correct Answer: D 

 

QUESTION 10

Which of the following is NOT a step in setting up HDR for the first time? 

A. Take a level 0 backup of the primary. 

B. Useoninit -v to bring up the secondary. 

C. Execute a physical restore on the secondary. 

D. Useonmode -d to specify the secondary instance name. 

Correct Answer: B 

 

QUESTION 11

Why do automatic checkpoints cause the database server to trigger more frequent checkpoints? 

A. To avoid LRU flushes. 

B. To ensure the buffer pool is always available. 

C. To ensure theonstat -g ckp report is accurate. 

D. To avoid transaction blocking during checkpoints. 

Correct Answer: D 

 

QUESTION 12

Which statement about mapped user functionality is true? 

A. Mapped users cannot execute distributed operations. 

B. Mapped users are allowed to run with multiple names. 

C. The DBSA can control the access to tables at a row level using security labels. 

D. The DBSA can grant database server access to externally authenticated users with no local account. 
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Correct Answer: D 

 

QUESTION 13

Which command line utility displays real time statistics about the instance? 

A. dbinfo 

B. onstat 

C. dbschema 

D. onmachinfo 

Correct Answer: B 

 

QUESTION 14

Which of the following activities does the Secure-Auditing Facility NOT monitor and record? 

A. Specific rows. 

B. Specific users. 

C. Specific tables. 

D. Specific DML operations. 

Correct Answer: A 

 

QUESTION 15

Which user isolation level may cause concurrency problems with SELECT statements? 

A. Dirty Read 

B. Committed Read 

C. Dirty Read Last Committed 

D. Committed Read Last Committed 

Correct Answer: B 
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